Simplify the Expression Pd: Name: \< é V

o ——

Simplify each expression. Show your work on a separate sheet of paper. Write your final answer on the line in the box.

1) —-2(1—4x)

2) —4(8x—4) )" 2 +Fx

3) —3(2x +5) 2)__~3dx + [

4) 7(8x—2) I_=lex - (5

5) 5(=7x —6) —x o _Sbx- 14

6) 7(5w—1) — 3w 5) '?552@ X *—?O
6 Sow) ~

7) =7(7m—3)+2m 7: e — =

8) —-5(x+4) . Zx- 20

9) 7r+2r—4 0 Qr.- m

10) 23x — 7x + 4x i CQOX

11) 3xy + 13xy — 12xy 1) ey

12) 12ax — 2ax + 14x + (~3%) 1) 1Oaxt [[x

13) 3x + 2y — 2xy + 5x — 2xy 13) % _hQ\[ ——L{xy
14) 7a+a —a + 3ab — ab + 2ab 14) 7&*‘1"&\) '
15) 2r + 4ry — 57+ 3x — 4ry 15) 3x — 3¢
16) 3(x — 5x) + 2(x + 8x) 16) loxX
17) 4(x —y) 17) __Hx -4 ¥
18) 2t + 12t — 4n 18) _[He-Hn
19) 9x — 7x + 2x + (6x + 2x) 19) [
20) —2(5h+4) —4h 20) __~ "’”f\‘” %
21) 7(8k +7) + 3k 2159k +49
22) —10 — (99 — 100) 22) —q 9
23) (—1+(=D)-(-1—1) Siamane
24) (-3--6)—(5-(-2)) o - 33
25) Q
25) (—12-10) + 4 St g
26) (—-32+2)+(-2) 27) 24
27) 16 - (7 + (-15)) 28) 300
28) 5(~6)(—10) 29) -4
29) (—1—8)+(-5) 30) il

30) 3+(~8-2)
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